JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING
MODEL QUESTION PAPER
2022-2023
CLASS -10
SUBJECT - ENGLISH
Set -1 (Objective)

TIME - 1:30 HOURs FULL MARKS: 40
GENERAL INSTRUCTIONS:

Total number of questions is 40.

Each question carries 1 mark.

Four options are given.

Students are expected to select the most appropriate answer.
All the questions are compulsory.

No marks will be deducted for wrong answer.

l. Read the passage given below and choose the correct options to answer the
questions:-

Valley of flowers is a national park in Uttarakhand, India. This Valley is famous for charming
Meadows of alpine flowers. Myriad alpine flowers make this place a colourful Paradise. This
beautiful valley is also a World heritage site with its prestine beauty and mystical
surroundings which attracts nature lovers, photographers and botanists. Valley of flower is
bifurcated by Pushpawati River. This Valley is one of the famous trekking destinations in
India. The valley of flowers is a 3- km Climb from Ghagharia. One cannot stay at the valley
of flowers, therefore, Ghagharia remains and ideal place to relax and sleep. The valley is
covered with snow for most of the Year. It opens on 1st June every year for visitors.

Q. 1 The valley of floweris in.....................
a Jharkhand

b. Uttarakhand

c. Bihar

d. Rajasthan

Q. 2 why is this Valley famous for?

a Pushpawati river

b. Ganga River



c. sun-flower

d. Alpine flowers.

Q.3 why this valley is a world heritage site?

a. because of its pristine beauty

b. because of its mystical surroundings

c. bothaandb

d.None of the above.

Q.4 The visitors have to stay in Ghangaria because

a. The valley of flowers is a haunted place.

b. One cannot stay at the valley of flowers

c.Ghangaria is an ideal place to relax and sleep.

d. both b and c.

Q.5 When does the valley of flowers open for the visitors?
a. 2nd October

b. 1st June

c.3rd September

d. 1% January

Q. 6. Which word means divided into two separate parts?
a. charming

b. bifurcated

c. heritage

d. destination

Q.7. The antonym of ‘repel’ is

a. relax

b. attract

C. ideal

d. none of the above.

Q.8 Valley of flowers is a national park in Uttarakhand , India. The above sentence is in :-

a. simple present ,



b. simple past.
C. present continuous .
d. past continuous.

Il.Choose the correct options given in the questions 9 -14 and complete the letter
given below.

Old H. B. Road
Kokar, Ranchi

17 November, 2022

............ 9......... Aman.

lamvery ......... 10..ene. to know that you have got first positions in the 10th Board. We
are very happy to ............ 1. your name in the merit list . Your dedication and hard
work has ...... 12........... with success. Your success......... e W me and gives me

inspiration. | am very proud of you ,Hope you will get similar success in future also .

Your......... 14.......... Friend

Q.9.

a. sincerely
b lovingly
c. Dear

d. deer
Q.10.

a. sad

b. happy

c. angry

d. disappointed
Q.11.

a. find

b. receive
c. proud

d. none of these.



Q.12.

a. given

b. failed

c. crowned.

d. none of these

Q.13.

a. discourages

b. encourages

C. jealous

d. hate

Q.14.

a. loving

b. lovingly

c. faithfully

d. obediently

lll. Choose the correct option and answer the following questions:-
Q.15 ‘The children are making noise in the class ‘This sentence is in-
a simple past

b. past perfect

c. present perfect

d. present continuous

Q.16. The passive voice of ‘Mr. Sharma is making a film is’-
a. A film is being made by Mr. Sharma.

b. A film is made by Mr. Sharma.

c. Afilm is made by him.

d. None of these.

Q.17. The passive voice of “who wrote this book?”

a. By who is this book written?

b. by whom is this book written?



c. By whom was this book Written?

d. By who was this book written?

18. Look ! Thatman............... to open the door of your house.
a. try

b. is trying

c. are trying

d. trying

Q.19. The modal verb in’ [ asked him if I ....................... see him’ is:-
a. should

b. ought

c. need

d. could

Q.20 practice ................. a man perfect .

a is making

b. makes

c. are making

d. none of these .

Q21 L., French these days.

a. was learning

b. learn

c. am learning

d. learnt

Q.22 Look ! Sheisthegirl.................... Stood first in her class
a. who

b. whom

c. when

d. where

IV. Read the passage given below and choose the correct options to answer the
questions: -



On the public writing table, he started to write with much wrinkling of his brow caused by the
effort he had to make to express his ideas. When he finished, he went to the window to buy
a stamp which he licked and then affixed to the envelope with a blow of his fist . The moment
the letter fell into the mailbox the Postmaster went to open it. It said :"God :of the money that
| asked for, only 70 Pesos reached me ,send me the rest since | need it very much. But
don't send it to me through the mail because the post office employees are a bunch of
crooks-Lencho .”

Q.23 who is’ he ‘in the first line?

a. God

b. Lencho

c. Postmaster

d. none of these.

Q. 24. How much money did reach Lencho?

a. hundred Pesos

b. thirty pesos

C. seventy pesos

d. fifty pesos

Q.25. What does the phrase” bunch of crooks” mean?
a. group of dishonest people

b. group of honest people

c. group of friendly people

d. group of unfriendly people

V. Choose the correct option and answer the following question:-
Q.26.Who is the author of “From The Diary of Anne Frank?”
a. Royal Dahl

b. Anne Frank

c. Walt Whitman

d. Ogden Nash

Q.27.Who did Maddie think would win the contest ?

a. Wanda

b. Maddie



c. Peggy

d. none of these.

Q.28. What risk did the pilot take?

a missing his breakfast

b. flying back to Paris

c. flying the old Dakota straight into the storm
d. He did not take any risk.

Q.29. What was the immediate reactions of the Postman seeing the letter?
a. cried

b. laughed whole heartedly

c. felt sad

d. felt happy

Q.30. what are a man's obligations in life?

a. obligations to his family

b. obligations to his people.

c. both aandb

d. none of the above.

Q.31. what does Amanda consider herself?

a. an Orphan

b. a player

c. very rich

d. very poor

Q.32. The baker or the bread seller of those days had a Peculiar dress known as:-
a. kira

b. coat pant

c. kabai

d. hanbok

Q.33. In which country tea was drunk first?

a. England



b. China

c. Pakistan

d. Bangladesh

Q.34. what type of man was Griffin?
a brilliant scientist.

b. lawless person

c. botha &b

d. friendly

Q.35. what did the thief use to change every month?
a. his name

b. his house

c. his car

d. none of the above.

Q.36. who is the writer of “A Triumph of Surgery?
a. Mrs. Pumphrey

b. James Herriot

c. Ruskin Bond

d. Mulk Raj Anand

Q.37. who was Ausable?

a waiter

b. policeman

c. secret agent

d.None of the above.

Q.38. Horace Danby liked...

a. reading expensive books

b. reading newspaper

c. singing

d. listening music

Q.39. Mrs. Loisel borrowed a .................. from Mme Forestier.



a. adress

b. a necklace
c.botha &b
d. None of the above

Q. 40 What was Bholi’s real name?

a. Sunidhi
b.Sulekha
c. Rajni

d. Nalini
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General Instructions:

i. Candidates are required to give their answers in their own words as far as
practicable.

ii. All the answers must be correctly numbered as in the question paper.

iii. All parts of a question must be written together.

iv. Answers of the questions must be in the context of the instructions given therein.

I. Read the passage given below and answer any five questions:- 2 x5=10

Reading

The horse is a domesticated one —toed, hoofed mammal. The natural life span of a
domesticated horse is about 25 - 30 years, 10 years down from what it was in the wild . One
can tell a horse’s age from the number of teeth it has. They get all their teeth by the age of 5,
after which those teeth just get longer. Horses can't breathe through their mouth. They have
10 different muscles in their ears. Horses have a nearly 360 degree all round vision. The
only place they cannot see is directly behind or right in front of them. Therefore, it is unsafe
to stand behind a horse. Each of the horse’s two eyes work independently. A horse can
sleep standing up as as he is able to lock his leg muscles which prevents him from falling.
As horses become more domesticated humans have developed more uses for them, such
as serving as means of transportation, source of entertainment etc. Today horses can be
found in the care of humans all over the world.

Q.1 what is the life span of domesticated horse?

Q.2 How can one count a horse’s age?

Q.3 Why is it not safe to stand behind a horse?

Q.4 How do horses help humans?

Q. 5 Find out the antonyms of ‘indirectly from the given passage.

Q. 6 Make meaningful sentences with the given words:-

a. entertainment

b. prevents

Q.7 complete the sentences.

a The horse is adomesticated .........c.coooiiiiiiiii

b.onecantell ahorse’s age .......ooveiiiiiiiiii



ii. Writing

Il Attempt any two in about 80-100 words (Question 10 is compulsory)
5 x2=10

Q.8 write a letter to your younger brother describing him the importance of time .

Q.9 Write an application to the Headmaster of your school ,asking him to make more book
available in the school library.

Q.10 write a paragraph on” the happiest day in your life”
lll.Grammar
Q.11 Fill in the blanks with suitable models given below :- 1x3=3
( might,could,may)
a.Mysister ..o dance when she was five .
B, God bless you !
C. Aman worked hard so that he.................... pass
Q.12 Transform the following sentences as directed :- 1x3=3
a. Anita is too lazy to write. (Remove ‘t00’)
b. Who is not afraid of death? ( into assertive)
¢ .Radha said to me ,”, please help me to lift the box”. ( into indirect speech )
Literature
Q. 13 Read the extract given below and answer the questions that follow:- 1x3=3
| am in Orphan, roaming the street
| pattern soft dust with my hushed bare feet
The Silence is Golden, the freedom is sweet
a. Name the poem from where this extract has been taken.
b. Who has written these lines?
c. What is she doing?

V. Attempt any two: (word limit :-40-50 words)
3x2=6

Q.14 why was Lencho angry?
15 How is wanda seen as different by the other girls?

Q.16 what was valliie’s favourite pastime?



Q. 17 Why does the poet want to turn and live with animals?
V: Attempt anyone: ( word limit -80-100 words) 5x1=5
Q. 18 who was Horace Danby and what kind of a person was he?

Q. 19 How is Mrs. Pumphrey responsible for Tricki's ailment?
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Q.14 571 T f=a sTTere e T it stfsfnar g 2

Q.15 CuO+H: - Cu +H=0
fau gu st o o qerd FTST=E BT @ g
) CuO
) O2
) Cu
) H2
Q.16 fRu U = 7 form whre &t srfsferaT g1 vt 872

IEERIEEEIRIER]
Q.17 TFofafed & F19 YTHhias o HT I 57
a) e aiie

IR EIG]
c) FreaaTx
)

O

PIeel

o



Q.18 T o= 7 %71 PH w19 10 &, 3 Aferfeaa # & #m grm?

a)

O T

R p=)
) dT
) SETEE
d) &
Q.19. fer war = 747 gf=a war g?

="

=" N

(>4

(=4

¢
—&

a) H gHAIT g1 1% TEAT 9120 |
b) H TARTATAT | ZT &Y ST AT |

)
C) EH ¥ | T 4T AT
d) 7% A TAT &1 AT IAA AT AqTaA! (=g
Q.20 THAT § FIF AT ¥ AT & ?
a) fafes st
) TEF
c) farfes sreet
) wte v
Q.21 FIF ST FAL & AT T 79 FGeqT H 1T SATaT 872
BEUERE
) It
) S
) FARNT
Q.22 fFwferfed ® & g o=l &1 9T srRrerwe a9 # AT Srar g 2
a) T FEMEe
) HIRTH eS| FIaAe
EUEREESIRES
d) TRIH gresrrEe

O

o

o O T Q

O



Q.23. ST AF Arad ql o STeme 9% J971 872

a) TTHT HedT
b

(¢)

)
) ORHT AT AT
d) TR FT AHTT
Q.24 FHfed § & Fi o7 gae e sratwarsfie 8?2
a)
EUERE
) T
REIGRE
Q.25 Tt ¥ T § YTHF BT F O T AT T AT RS FT T FET 22

(¢

Q.27 THRTIT HUT ThehAT § H3ihd § #17 951 grav 2.
a) STeT T Z&dT
b) SIS T 7<h AT

C) FTAT STSATFATSE T Hh gl

d) FTEA STEAFATES AT STANRT g1

Q.28 TFATTH & GT& TaTT &1 Tag urg § fohe fem & grar 872

ERE IR

a

(¢]

) FITHT
) ddhh
) et

) Tt

o



Q.30 e Tl THTH & {10 &I AT gTHIT ITLarAT 8?2

e g

Q33U T =T F R AT @8 ?

%M/g%g—;tad es
) ‘\>
g\% ’

e

L RRTARC)
g%?



Q.34 &t 3T FHEIEE % 99 g -

Q.35 #He T AR & forw fome wter it 1?2

T EFbY

OSG%W%%H&#WENE%%?
) &

O T o

) Hew
) =T
) I

o

ITE BT
Q.37 Tl STgT™ @ | ATHTEIET &7 M| 2IaT §

a) TIH It ¥¥ ;T
b) fa=tra Treft =% #7
)
)

c) T TATTH &< HT
d) = It w7 AT

Q.38 I T2  ATeT oI ™oreEr 8
a) CO2

O

C)) SO2
d) NO2

Q.39 RHAIEd ¥ & FIF St ATAT So11 H1d FT IZEL0 Tal o
) AR
b) e 19
)
) FrIAT

Q

YEGUEEIRET

o

Q.40 AT ST IATEH & o1 Ta ¥ FTe ~qAaH fha=l gl ATgu?
a) 15 Km/h
) 15 m/s
) 45 km/s

b
C
d) 20km/h
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| Par-10 | fowa - fas JHI- 1.30 ©eT | quife- 40

g -

> TRIemSf gURIYT 3O Yol B SRS,

> $audl B = 19 ]

> Uy T 1 9 7 d 3ifd 7Y ST U B | o § fhet 5 usll 1 IR &
el 81 U Uy &1 A 2 3 RufRa g1

> TYASAT8 Y 14 0% aY SR U 8| Fored 1 fh81 5 U8l &1 IR &A1
3 arf 8. U Uy BT HM 3 3k FuiRa gl

> U I 15 T 19 <" ST UM 21 fhet 3wl &1 ST e sifAard 31 e
UY &1 AF 5 3ih RYRd g1

Section- A

Q1 B &F G137 & gl &l 70l &} [y

Q2 3faqd gUul ¥ §-d gU Ufafad &1 Ueh e faxur Sy Rafae oid axq &1 ashdl s
TR QT 11 g

Q3 IHTyHl feIES fhd Fgd § SaeRU < |

Q4. MY 3ad w7 8?2

Qs TRETFRIEH 2

Q6 W 4Tl [y FHgd § 73ameru e |

Q7 TgfaRad sftdal # g aret S i faferi &1 ford |
a) €3Sl b) ASSUH

Section- B

Q8 fioe =P v fHa Ped 87 39 <Y S T HRU2? 34 G B $ oY by TR &
<N &1 UG o i 872

Q9 7cm TS FT HTs fFa BT 18cm By g3l & fhd! /@dd GUUl & A 27¢m &1
o3I TR @1 T 5 | vfafds ot R, gafa aur age I Sifor |



Q.10
Q11

Q12
Q13
Q14

Q.15

Q.16

Q17

Q.18
Q.19

T N faaieH & faudia 81 54 IeTexur T IHe

TEdI% & AT TR &I 1 St &z I MY Siad IRoft & g THR X
foar mar?

BT P a1 3P AT T B R HRUT R?

Y] URETRUT {58 HEd § 2 9HSy|

Foll & Fid P =Y H §H IR Sl pT TN fhT UBR Hd a7

Section - C

(a) Tt Trde &1 ufeRlY f vap! IR ik FHrar 82

(b) TIRIY 2Q, 3Q, TUT6Q & dIF URIYD! B [ UHR IS Bl bl HaIoH
D1 Hd UfaRIY

Q) 11Q (i) 1Q 8

SR F1 7 ? U8 59 Rigd R »rf o1 § ? Umad! YRT S/E-H! &) §1ac ud
BT BT qUH DI |

a) N+ Ho— NHs

b) Fe+ HO— Fe3sOs + H>

C) NaCl + AgNO3 — AgCl + NaNOs

d) Hz+ Clo— HCl

e) Mg+HCl — MgClz + H>

TS o U o &1 Aifdd o 941
AHd & 9 F fofiir ek o gaemy




IRWUS Qe T Td UfRefur gRug e RIS,

Tfee Uy T SECONDARY EXAM 2023
| ®wem 10 | fawg - amfore fasm TJHI- 1:30 °¢ | quife: 40
= AT
> $A40UYTI
> gt Ui & IR FRard B
> Ud® Uy P e U 3 RuiRa g
> Ud® UY P IR [Abed U U §1 I8t fahey o1 Ig BIfv |

> TTAd IR & [ Bl 3 a1 HIe S|

1. XI¥aTE B U FAfg ol & & Yearedt S 598 9 fhus grRT et gt 87
a. M Gpid
b. UM gfder™
c. HTST 3R T TRRT

d. $H 9
2. ST & Ui H UgE YT AU are fawis Fal & aiger 97
a. Gﬁ@'{ﬂ
b. SfeH
c. URIMN
d. TH9
3. WER JeaY YT Ted A ford fh Sfaiead &1 g fobaT uT?
a. @@&ﬂw
b. IRGI! MTgla
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d. AGITd TATUE 3Gl
4. AT HHIHE HRd 31 3T?
a. YRd H G TTRIT BT PRI BT T B
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PTL
5. Wwﬁwwnﬁﬁmaﬁ?@umwmw
a. ot ART
b. =M AT
c. IWUY

d. Glamomy
6. STl & IAIGH & oL THIC A8 T TN ARG H G Ugd e foear U
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d. 28T 3R 6 TO &
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21.W@H%$WWWWWWW$@%%?
o
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b. ToRId
c. Y
d. IS
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28. FAgifehd T / B T SAMYRYT IGNT 37

a. T ST

b. TIET ST ITNT

c. WWB@"T

d. IaH I
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a. 0T
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c. SIS Ul

d. TG
30. FHifhd 7 A TS URGET & IR H B 1 HYUF 34 &7
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31. AG faHT RUIE =M &1 JamT fhd YR IR &l 62
a. WY
b. fRram
c. Ufdfad omg
d. SWRIdd gt
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b. WHafsk
c. YRUNY famrg
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d. T 61 g4 ST
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b. FUTSAT

c. U WHR HAT
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37. SERIYIG UG BT ----- oo 20 B FeTe W R g 87
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SIREs AfaTeh 3T T TiAeTor aRwe T (FIRES)
ATEITAS  ILETT- 2022 - 23
ATSoT Y2A-IF

g-10 | fawa- gl faeme quith- 40 | §HI - 1:30 €

AT fS62r -(General Instruction)

> WG JUTHHT 3791 sql H 3G/

> ol g Fr aEqr19 &

> FeT 1 & G 7 T TG G957 8] 57 & 1] Gier g1 @ o} HelhadH v qierd H
AT G2 F957 T HloT 2 3 [AERT &1

> 5o 8 & qoA 14 d% TG 5o 8] 37 & [Fae] 5 qos] & 3 3if8&ci# 150 sal #
ENTT| GeAF 97 T HIT 3 3 [AGRT 81

> GO HEIT 15 & T97 19 TF GIE3THIT T9:7 &1 3597 & [Foal AT F94] 3 Iav 3f&daH 250
orsgl H ST G T97 FT AT 5 A [FERT &1

sifaergada wea fredt afgr weat F 3w &

1. fagar geAee Fr AsanE fhas i A2

2. HRA H 9UA IMYfAs aET Aol e 3wl waifig @ g e
3. @B HE 68 Fed &7

4. Wliehcld &I HIS al Felfaat i fog|

5. FAGA! FA & AT Pl ¥ v 3ma g2

6. HaT & fATAAT FT ATEIH FAT Fgl ST 82

7. faceh faay & =1 a9 &2

TgE o fredl i weeAl F 3w &




8. 3THGANT 3lwaleld H HRCAAN SaRT AT ¢ fAffiesl Tl &1 3@ H|
9. Ygol faRa Jeur & TAY HRA #T MeWAh 3cures FaT Fer?

10. AAEAT 3R TdIEAT AT H T 3T g7

11. GaTd W T ATATARAT SAhdifFeh THR & FHIAGST #H Hd UGN gl §7?
12. MR & AT & AT Fellac I STTEAT F|

13. 0T &I eral & 3eel@ Y|

14. f999 IR e (WTO) & ool ol 3cardrl & ford|

A3 Tt el et weadt & 3°W &

15. 1841 @& & JUT &H F© ol I AT AT AT A7 o HEoT FEpid
foeperare 1 3id 3R e gram?

16. Wliehad ot aRTEfATT & Ao R_fayar 1 Fomedr § 3R 30 9=
THSET ST §?

17. Teh Icqaedr # Hal 1 ol &1 fagaar Hifw.

18. STeT GoleTcll &1 87 STel TX&TUT & &ha T ST Hehel &7

19. AT F yefiRia @fasr 3cues &g td qaqa & AT &7 AT FY- g,
3T, ellg 3 &t femaraded 3R FaTel.







FIRGUs AT IFEUT Td TRIETT aRve = SRS
T At gdieT 2022-23

AlSd 92 97

e 1

a1 10 avg- arforey-

eI @Iar dUT T AT & ded

gAI- 1.30 Hrs

quites- 40

AT Ader-:

> DAL TRAR]
> g vt & 3T AT B

> Ul U & [l Ueh 37 [AuTRT &
> Ucdeh U & IR faded fGuare &1 T8 Ahea &1 aaa fifa|

> ITeId 30X & [T IS 37k T8T FhIe

Q1.=me] HYAT & 3&Tg0T § -Examples of current assets is /are:

Tgfa=r (Closing Stock)  (c) &gk (Debtor)

SATGar|

(d) =137 s (All of these)

(a) Tws (Cash)

(b) 3ifaeT

Q2.9Tcd e &7 o@r fhg @ & giar g?(Discount received is included in which account ?

(a) 8T BT Wrar (P/L Account) (b) 3nf¥e-fcar (Balance Sheet)

(c) IR @rar (Trading Account) (d) 31T - <II grdr (Income Expenditure Alc)

Q3.=49R @1aT fha 9&R &7 @1ar g ? (Which type of Account is Trading Account ?)

(a) =afFd9ra @rar (Personal Account) (b) ar&dfdes @TT (Real Account)

(c) ATHATT &1 @iar (Nomianl Account) (d) 3ded @rdl (Suspense Account)

Q4. afe fasa 5500 Fo TAT el oty 1200 Fo g df o IR AT FT oETT 47 g&i ? (If sales is

Rs 5500 and Gross Profit is Rs 1200 what is the cost of goods sold ? (a) 4500 o

Fo (c) 4300 wo (d) 5500 ®o

Q5.fAFT # i @ 3T wFafr § ? (Which of the following is Intangible Assest ?)

(a) 91f# (Land)(b) =i (Goodwill)(c) #asT (Building)(d) ®eifer (Furniture)

Q6. T & ¥ +lT & O =gg &r & ? (Which one is not a Financial Expense?)

(a) FOT 9 sI1ST (Interest on Loan )

(c) eI (Charity)

(b) Yo WX =&TT (Interest on capital)

(d) & @< (Discount Allowed)

(b) 6700

Q7.t% faf¥ 99w w 8l Tufa 3R arffica &1 IrRier 8- Is the summary of all assts and liabilities

(a) dege Trial Balance (b) @meT gIfer W Profit & Loss alc

(c) fdcar Balance sheet (d) 318 TT All of these


1.30 Hrs


Q7. Ush 3= HUM 87 §- ..is not a fixed asset (a)UHsCash (b_3TFRT HeireR(c) ¥ land (d)
@ All

Q8. 31H & i IT SAUIRS TIdT dellel HI oS el & Which of the following is not an advantage
of making trading account:

(a) AT T oWTT FI SATRRT knowledge of cost of goods
(b)JetelTcHeh 3EITT comparative study

(c) @I 9T fAIFUT control over expenses

(d)STeIR & HgIMs I fAIT0T control over the market

Q9.fAFT # &l & T |Fafr § 2 (Which of the following is tangible Assest ?)

(a) $f# 3R #1aeT Land & Building (b) weiteR 3R e Furniture and fixtures
(c) I 3R 7ML Plant & Machinery (d) s T All of these
Q10. d= APHY ==@OR & foT & Bank overdraft is a ___ for the business.

(@) @ expense (b)3TT income (c) TURT assets (d)eTAca liability
Q11. 3787 ¥ Piadr gfdamaT $r fFAvar sigf & Among the following, which is not a feature of a
Promissory note?

(a) 3T Fhad &l geTdR gld g(Only two parties) (b)3d oledeR for@dr g(written by creditor)

(c)3EH i T T 7E glc(Acceptance not required) (d)3EH WS TTecdehdl el o
dehcT(writer cannot be the payee)

Q12797 @I 3T dr EUfT 7 fhdel 97 W g?How many parties are involved in case of

discounting of bill?
(a) & Two (b)disT Three (c)Ush one (d)3rfAT Unlimited

Q13.9T FI 3UFA & AT YT H  Tdledl HeAT Ig Th | Posting Salary in debit of Furniture
Alc is a

(a) T 1 3efer Errors of Casting (b)@dler T 3G Errors of Posting (c) 3T o Sfiet T
3eef® Errors of carrying Forward (d) 3131 & @i 161 : none of these

Q14.gur T TRe & RERTT & Fahell T

(a)uwuefim (b) gfauefim  (c) vwuslT ar gfauefm (d) 397 & g #&T (none of these)
Q15. 3[ag & feeT fhaar fAeld &2 Which of these get days of grace?

O RIGEILE] (b) o (c) I& (d) &I & &S 7T : none of these



Q16. S oI@sh- X fAHAAIIT & dh @ A1 ST & (When the bill of exchange is discounted
from the bank by drawer X. Journal Entries in the books of A's (ef@® & @id H Yfafte &)

(@) B/R .Alc Dr (b)Cash ...A/c Dr (c) Cash.... Alc Dr
To Cash To B/R Discount Alc ... Dr
To B/R

(d)g=Tet & IS A& none of these

Q17. 30T S Feufd 7 eperdreT v SFaany 18Il gln condition of dishonour liability of
payment is of .
(a)d=(Bank) ( b)EdrRdT( Acceptor) (c)er@eh(Writer) d)3aTH q FIS AT

none of these

Q18. Ifg faux &1 e T 9eThR &I 99T T fear ar3m g 3R fauy 3wfafsa g srar § ar o
g H YA I CaNT ATl fhT ST &

(a)saedrT (Endorcee) (b) SaTiehdl (Endorcer) (c) Tehdr  (d) (d) ST & FIS G (none

of these)

Q19, , 5l A & B & 9rcg faua WX Elipfd 9red T (When A received acceptance of the bill from
B.) Journal Entries in the books of B's A/c (¥l & @i & gfafse )
(a)B's Alc ... Dr. (b) A's Alc....... Dr. (c) Cash Alc... Dr.
To B/P To B/P To B/P
(d)3# & HIS AET (none of these)
Q20. de9e & o fAde 9T T & YR &9 & @1 ST g (In case of non agreement of Trial
Balance the amount is temporarily put to)
(a)elsleR @rd # (Creditors Account) (b)eT-I& WId # (Suspense Account)
(c)TEfaar @ 7 (Stock Account)  (d)@TeT ey @raT (P/L Account)

Q21.37&d STT H.. (Outstanding Expenses are ...):
(a) TSI @raT & A1 fohar arar § 3R ufa faavor & geafa awr & fe@rar Srar &1 (... debited to

Profit & Loss A/c and are shown in the Asset Side of Balance-Sheet.)

(b) STH-gIfA @IaT H A7 fhar Sirar g AR Fufa awor & gifi¥fica # fG@mr Srdr g1 (....debited to Profit

& Loss A/c and is shown in the liabilities side of Balance-Sheet.)

(c) emH-gife W1 # AT foham Srar § 3R Rufa faavor & giffica smer & fG@mar Smar g1 (....credited to

Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet)

(d) 38 & FI$ FET| (None of these.)

Q22397 3T (Accrued Income)
(a) T SR @1 H S1AT fRar srar § 3R ufa aver & aeafa smer & R@mr Smar €1 (is credited to

Trading Account and shown in the Asset side of Balance-Sheet)

(b) I -G @rar & 7 forar arar § 3R Reufa faavor & gwafa smer & fe@rar Srar 81 (is debited

to Profit & Loss A/c and is shown in the Asset side of Balance Sheet)



(c) T SMH-gTeT @i H STAT fRar Srar § 3R Rufa-faaver & gif@ica et & fq@rar Jrar g1 (is credited

to Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet.)

(d) 3T & SIS 7AET| (None of these.)

Q23. ARSI & &F 3'|é 3ifae wiaar (Closing Stock given in adjustment) -
(a) SMTH-BTT @rar & STar v Sirar & 3k fufa ot & aifRca st & fR@rar Sirar &1 (is Credited to

Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet.)

(b) SITIR @TaT # AT fohar Srar g 3R Rufa fGaxer & aeafa awer & fg@mr Smar g1 (is Credited to

Trading A/c and is shown in the asset side of Balance Sheet)

(c) emH-gIfey Wrar & ST aar T faaver & @eufa smer &7 R@mar Srar €1 (is Credited to Profit & Loss

A/c and is shown in the asset side of Balance-Sheet.)

(d) 3T & FIS 7AET| (None of these.)

Q24.d4% FATY a0 §A1=T ST § (Bank Reconciliation Statement is prepared by)
(a) d SdrT (Bank) (b) FAER CdRT (Creditors)

(c)3TheTh CART (Auditor)

(d) S & aITEH SdRT (Customer of Bank)

Q25. S FATY [GaRor s« & fow Qv forar Jrar %.(Which balance is taken to pepare Bank Reconciliation
Statement)
BREEHE qrHgs 1 Y (Cash Book or Passbook Balance)

(b) GTHER =T QY (Passbook Balance)
(c)oT ar Apg d@r &1 AV 3R o & RINECaT] Y (Neither Cash Book Balance
Passbook balance) (d) 38 §&r & AV (Cash Book Balance)

Q26. 9THEeh sTehel & (Passbook is a Copy of)

(a) fﬁ%’-ﬂﬁ A do graes EZIH?RT @l (banking tansactions in Cash Book)

(b) STTATT FHT FATT Tfeaar va Si?'IF!TﬂT T (all the receipts and payments of busin
(c) HY 3G SIGgRT &l (all the Cash transactions)

(d)aﬁ? CART §eTv I Grar Hr (accounts prepared by Bank)

Q27.3Fm' T Sl Uhs g1 Fr fadwar %’ Which of these is the a feature of Cash Book
(a)$'\'=|?§f dAdhe AR 3UR Er=glal oledcar & @ae fohde IW@T SATAT & Recording of cash and credit

transactions
(b)fafdar SsIcaT #r for@er i 3TaeIHAT ST6T 8T No need to enter transactions date wise.

(c)Ie "eldsh EI%T d 9T Elﬁ & PR o T %’ Cash Book acts as a Subsidiary Book and a Principal Book
(d)None of these.

Q28. BT Ahs 8T I Uhs TAFH I §HLAT BT & (Cash Column of the three columns Cash Book

always has)
(a) STAT 3MTFA(Credit Excess ) (b) @I H & &S TS (Any of the two)
(c) I8 3TTFT (Debit excess) (d)3TH T FIS 8T (None of these)



Q29.2T qux Tderdr & foT (Bills Payable is a/an for the Acceptor)
(a)8T=l g(Loss) (b) 37T &(Income) (c) Tufd(Asset) (d) 37 & HIs AT

Q30.51 9 ﬁl’t% U o9 AT SITdr % Depreciation is calculated only on
(a) TUfAAT (Current Assets) (b)alol F9faAT (Liquid Assets) (c)TATY HYfIAT (Fixed assets ) (d)é?-m' Ee) Elflé'
8! (None of these)

Q313 & i el T@r gefd @ aoT sTeT § (Which of these is not a merit of Straight Line Method)
(a)lzi'qﬁl' T Hed FaT Sl Gl 8IdT (The value of the asset never becomes Zero)

(b)EIﬁa"ﬁ' B &1 T Aol I 3MaTSdr g glar.(No need of calculating depreciation every year

()" qajaﬁnfr e & TfYr e E|§Fr &1 31T g(Calculation of depreciation by this method is very
simple.) (d)3TH ¥ FIS 8T (None of these)

Q32.1571a3T, 2020 ST Teh AT 72,000 T. H T THAT AT JAT 3T @l W 3,000 . I gl TIT FT
AT Siiaet @iel 10 a¥ g, Toreeh g 3afiIse Hed 15,000 %. gl el 3@r veufd & 3efar

¥ K3 ?ITIT (A plant was purchased for Rs. 72000 on 1st January 2020 and spent Rs. 3,000 on its

erection. Estimated effective life of the plant is 10 years with break up value of Rs. 15000, depreciation by Straight
Line Method will be J)

(a)7500 (b)7200 (c)6000 (d)3TH & &S AGT (None of these)

Q33.FATTT ¥ Yeufd & HTaR el Tl dufer & g4 &7 #ed 38 a¥ # §a¥ A1l gren
.(In Diminishing Balance Method depreciation value of an asset will maximum in the ____

(a)37Tcd a¥(Last year ) (b) T & ¥ (Middle year) (c) JUH a¥(Firstyear) (d)3AH & Fig
el (None of these)

Q34.37T8I0T 9T ATl & ARSI & I§ (Interest on Drawing adjustment)

(a)tj\Gﬁ' #H SIST ST § (is added to Capital.)

(b)Cj\Gﬁ' H @ geram AT & (is deducted from Capital.)

(c)tj\\_:rh' # ST SATar %’ 3R CIEESIGRCIGI # AT foRar Srar %’I (is added to capital and debited to. Profit &
LossA/c.) (d) 38 & IS aTgl (None of these.)

Q35. dege #H 3fad Biar.... (Closing Stock in Trial Balance... )

(a) Pl SAUR QT & AT fHar ST gl (is Credited to Trading Account.)

(b) IR @WIaT & AT dur Fafa faawor & geafa smer # fgarar s gl (is credited to Trading Account

and shown in the asset side of Balance-Sheet.)

(c) haer FEufad fTaaxor & Feufa smer & fg@rar Srar g (is shown only in the assets side of Balance-Sheet.)

(d) 3AH & FI$ A& (None of these.)

Q36.2M9R WId & shfsc Y& T 19T sfac 987 & IAer F 3™ g af FI7 Hgallal & : (Total of
credit side excess over debit side In Trading a/c is-)

(@) Yy @mA  Net Profit (b) Hehel @M Gross Profit  (c)Jqcy gl Net Loss (d) @ehel gl Gross
Loss




Q37. 5AH ¥ PieT AT o BTed WIAT SeIlad T o1 el & Which of the following is not an
advantage of making Profit & loss a/c?

(a) Wehel o1 AT E11T T STARNI(Knowledge of gross profitlloss)  (b)aRT & fefRor # gfaen( Tax
calculation) (c)eTaarT &I JaTfd T 1A (Progress of business) (d) T T P
el (none of these)

Q38. HREET & TAFAR #F o9mAr =T 10,000 . Fr (A FEFAT WTd A 31T F =0T (Rs. 10,000
spent on extention of factory charged to Repairs Account);
(a)Suspense a/c Dr. 10000 (b)Repairs A/c Dr 10000 (c)Factory A/c Dr 10000

To Repairs 10000 To Factory 10000 To Repairs 10000
(d) 315 & FI§ =T&r (none of these)
Q39.RER3T & AR AT T FRMerT garT &R SITar g(As per Traditional methods
Errors are rectified by )

(a)ufafSedt &1 &lc #T (cutting the entries) (b)ufafSeat & fAer &3( Erasing the entries )

(c) 3UgFd FUR & giafsel(By suitable entries of rectification)  (d) g=7 @l (By All)

Q40.9R A= TEfaar 15000 0 fassa 25000 #T8T -1500 Hehed o1 9000 T - 13650 ar 3ifasd e
&I IuET S| ? (Opening Stock Rs 15000, Sales - Rs 25000. Frieght - Rs 1500, Gross Profit-
9000, Purchase 13650, then calculate closing stock.)

(a) ® 9630 (b) 14500 T (c) 15000 &o (d) 14150
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g FT AT Irg 3 AEiRa g

Y V VY

SECTION A

Q1.fafATgT & g o Jav] (Give two benefits of Bill of exchange)

Q2.7Fufad faavolr $r ar AVt S v, (State two features of Balance sheet.)

Q3.8 o9l & ar 97y Cl—ciﬁlﬁ?ff & A1 foId. (State two methods of providing Depreciation.)
Q4.§HN@WE’HTU.( Give rectification entries) (i) REATSTET & UTCd 500 ¥. I AT & @I H AT

R fear g (Rs. 500 received from Rimjhim has been credited to Radhika Account);

Q5.8 SEr T af  faAwar3it I ford. (State two features of Cash Book.)
Q6 .[qUT T AT TR FEd & ?(What is meant by Dishonoring of Bill of Exchange?)
Q7.5 WTdT sellel & &I o V. (Give two Advantages of preparing Trading Account.)

SECTION B
Q8. 3dedl WIdT AT Hel-Tqeh GIdT e FATAT SATAT £.(When Do we make suspense account?)

Q9. deue tg 3NfAe facer A 3=aX sasu| (Differentiate between Trial Balance & Balance
Sheet.)

Q10.faf#T 9 & FAHAT a1 (Give the Specimen of Bill of exchange.)


1.30 Hrs


Q11. faFagT & Fia & I 98TFR gid & 937 H g’ (How many parties are there in
a Bill of Exchange, explain briefly.)

Q12. YR T FfAfee TTT Give rectification entries: (A) SATRT & 850 T. ITo G wifehed Ffeishl & @A
AT T fear =T ( A sum of Rs. 850 was received from Etwari but’s Account has been Credited to

Monica’s A/c);  (B)1650 %. 3T HTeT Sl HIelT & s fRITIAT Y, 3H ofTel o Wi H THT HX AT AT
(Goods worth Rs. 1650 has been purchased from Bhola on credit but Lal's Account has been Credited);

Q13. 7T % cilel SRUT GHSITT. (Explain briefly three causes of Depreciation.)

Q14.1>I?n_:j:' EI%T SEISIES) §$ F AW F 3aT F I FROT ElFITEf.(State three causes of difference

between the balances of Cash Book and Pass Book)

SECTION C

Q15.1 378eT, 2007 T HFTAT o 80,000 & H Ueh AN T HiT 3R 10% al¥er dr a7 4
AT G YSHTd & G Hieat &l 0 forar| 1 Selrs, 2008 T HMT 1 weh e foraen
QETRT Hed 1 31T, 2007 T 16,000/- FTJ AT 10,000 T4 H SAT| HETell T GEIHT #2007

g 2008 & ast & fow #f=rr @rar de1ST| A Company purchased a Machinery for Rs. 80,000 on 1st
April, 2007 and decided to write-off depreciation at 10% annually on diminishing balance method. On 1st
July, 2008 a part of the Machinery valued in the books of the firm at Rs. 16,000 on 1st April, 2007 was sold
for Rs. 10,000 Show Machinery Account in the books of the company for the years 2007 and 2008.

Q16.1375F¢s, 2020 FI {1 o R 18,000 . T ATl 47| FH AR AT RG A I o earT ford
8,000 %. & &l HTE o fad= 9 319l Tehfcl & & Jalr =¥ & Ty qep oo ohr 37vret o1 T 3ik e
fATRr oX Sweht e 3 el o forw ¥ feram | & ERTeT e T e & et Al 315 o faoay 1 sgerarer 27
A grarcaer i &, a1 aur R & gEdent 7 Asierraran gfafsear HIfST (0n st October, 2020,

Reena sold goods to Ritu for Rs. 8,000. On that date Ritu accepted a bill drawn upon her by Reena at 2
months for Rs. 8,000. Reena retains the bill till due date and on the due date and sends the same to the
banker for collection. In due course, Reena receives the information from the Bank that the bill has been
duly met. Pass Journal Entries in the Books of Reena and Ritu )

Q17. RfFe 97 g gfaargs & I 3ia sdv . (Give the difference between Bill of Exchange and

Promissory note .)

Q18.ffe geafaat 1 aeffertor FIFSFT vg Ie7hT carEar HITAT| (Classify various assets and explain

them.)

Q19. 31ART 2020 & AT g ay & fav Y Afead =1 Fe=afaf@a aage &( Following is the
Trial Balance of Mr. Rohit as on 315t March 2020)



faeROT( Particulars) Amount | Amount

9ol (Capital) 40000

URfA* WIAAT (Opening
Stock) 10000
qehs(Cash) 8000

T (Purchase) 30000
fashT (Sales) 50000
%I dTgdT (Purchase Returns) 1000
Teg amadr (Sales Returns) 3000
YcdaT <II (Direct

Expenditure) 3000

ddsT (Salaries) 11000

39ERT (Furniture) 6000
foRTT(Rent) 5000

AT ALY

(Debtors/Creditors) 30000 15000

106000 | 106000

Jifaerd T (Additional Information) :

(i) 376 ddeT (Outstanding Salaries ) 1,000%.

(ii) 3T9TCT F}OT 39Tl ITSAT (Write off Bad Debts) 1,500 ¥

(i) 3TFEPT W 10% FT &I T g ST (Charge depreciation on furniture @ 10% pa ):

(iv) 31-03-2020 T e TEIAAT (Closing Stock on 31-03-2020) 18,000%. 31 HT, 2020 I HHATCA
gcaﬁa%%msmqmm,ma-mﬁrmuﬁw%ﬁraﬁﬁaﬁﬁawéwaﬁﬁm (You

are required to prepare Trading Account, Profit and Loss Account for the year ended 31st March, 2020 and
a Balance Sheet as on that date.)
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PART-"'A' (Elements of Business)
1. AU |9 § o= &1 Rafs fea faurr § wedar 27
(Which department keep the record of letter in a business
organisation?)
(A) UH R fd9rT (Co-despondence)
(B) Y fd¥RT (Purchaser Department)
(C) AT faWRT (Planning Department)
(D) T fART (Packing Department)
2.  FEIT AT & NG 2 ... ?

(Principle of office of organisation is ........... ?)

(A) Be¥g &1 g (Principle of objective)

(B) &= &1 Rigra (Principle of flexibility)

(C) H=ag &1 g (Principle of Co-Ordination)
(D) TH 4T (All of these)



AT Teq DI ScafT fba- Isal A 83 27

(How many words are there in origin of office?)

(A) 02 (B) 03 (C) 04 (D) 05
$IF A1 AREG SETaa &1 & T8 27

(Which one is not a function of business office?)

(A) YA U dRAT (To receive a letter)

(B) U= UNT (To sent a letter)

(C) &R (Filing)

(D) 99 (To make decision)

FTe AHAVG &I Afaser feae fear?

(Who invented Card Indexing?)

(A) U4 ARTR (Abe Rosier) (B) U9 (Grace)

(C) = ®Ie (Henry Ford) (D) 9Ted 9 (Graham Bell)
qyfiafafis<er @7 a9 g fafer 27

(The oldest method of duplicating is )

(A) fSTeifest gomell (Gelatin Method)

(B) <% uoTrell (Lithograph Method)

(C) f~Fa1 gumell (Stencil Method)

(D) 3ifHde woTretl (Offset Method)

M arel uAT &I g1 fHar smar 27

(Inward letters of generally received by .............. ?)

(A) SId g (By post) (B) TR gRT (By peon)
(C) IR g1 (By Courier) (D) 79 |41 (All of these)
TS BT 92T AT ©7

(What are the objects of Filing?)

(A) =T H UomH & I (Proof for court)

(B) U &I AT & oIy (Safety of letter)

(C) Jur~a 3maedddr (Judicial need)

(D) TH 4T (All of these)



10.

11.

12.

9T BIgd &1 q&F 3T 87
(Main file of shannon file is .......ccccuuu.... ?)

(A) 3R (Almirah) (B) dR (Wire)

(C) HAJHIH UST (Box) (D) HIC &R /<9l (Thick paper)
a1 faferal o A9 1 1= 9 Toa fFI-T6T gl ® @ 18
U I e B fov B9 W srgmmitter faftr aoes ey 27
(Which Indexing method is adopted to find on which pages the letters
sent on different dates were copied?)

(A) WTER FHATOTRT (Simple Indexing)

(B) &I IAIHAMOIGT (Card Indexing)

(C) =TI AR (Wheel Indexing)

(D) G AIHAIOMDT (Cross Indiexing)

I FTe Gobd dre dell aquierfa s1e &9 W agsmivte faftr
FI TSl G 87

(Name card Guide Card and Absent card are essential material of

which indexing method?)

(A) ERIHSD IHHIOBT (Vowel Indexing)

(B) el hATOTDT (Cross Indexing)

(C) IS IJAFHAMGT (Card Indexing)

(D) el Prs hHANUIRT (Visible card Indexing)
gfafafeser @ o 2 ....?

(Benefits of coping .............. ?)

(A) faspa & wdl 4 Gfaem (Convenience in term of sale)

(B) SIS} ARTH H FfAem (Convenience to place orders)

(C) faarsi &1 fuer d gfaem (Convenience to settling disputes )
(D) TH 1 (All of these)



13.

14.

15.

16.

17.

1 f 999 gRET uYe den awar gfafafy a9 &1 fafer eta—ar

27

(Which of the following is the oldest easiest and cheapest copy to get

a copying?)

(A) B ¥ gfafefu (Copying by hand)
(B) <19 ¥4 (Press machine)

(C) &9 YuR gRT (Carbon paper)
(D) &b T (Zerography)

Blesr BT FANT fHar Sirar 22
(Folder is used in?)

(A) TSI ®wrga (Vertical file)

(B) < arell ®wIsa (Tag file)

(C) 399 ®Igd (Shannon File)

(D) Agddrell Bigel (Box file)

A wefi= 4 gfafafy sy 282

(Coping by rotary machine is useful for?)

(A) e AUIRAT & Ty (For Retailers)

(B) ®Ic AMIRAT & ey (For Small traders)

(C) 9% @UIRAl & fov (For Big traders )

(D) TRl & T (Customers)

ARG 931 B fead A § faufoa a3d 27

(In how many parts commercial banks can be divided?)
(A) 02 (B) 03 (©) 04 (D) 05
Ugell IR dB1 BT I ST fba as foar Tar?

(In which years banks were nationalized for the first time?)

(A) 1979 (B) 1959 (C) 1969 (D) 1949



18.

19.

20.

21.

22.

23.

SIHER d9d @aT feaq @ 4 ga 7+ foran ran 287

(In how much time a post office saving account is considered in

corporate?)
(A) 9 99 (Three years) (B) U@ 99 (Five years)
(C) ¥1d 9y (Seven years) (D) T Y (Ten years)

Ie $1 DTl F0T BT A1 dF <41 ©7

(Which bank provides long term loan to industries?)

(A) @UIR® d& (Commercial Bank)

(B) ¥9d §& (Saving Bank)

(C) 3ienfir® 9% (Industrial Bank)

(D) EBRI d& (Co-Operative Bank)

s fasra 9= AT $9 < $Y < TS7

(When was India Vikas Patra Yojna with drawn?)

(A) 1988 (B) 1999 (C) 2001 (D) 1990
SIHER 99d @d § &9 4 & fha Al o9 & 9ad 2?

(What is he minimum amount to be deposited in post office saving

account?)
(A) 100 ®TIT (Rs. 100) (B) 50 w4UaT (Rs. 50)
(C) 30 wUAT (Rs. 30) (D) 20 ®UAT (Rs. 20)

9 3Mfre =arel f59 @ W) frear 872

(Highest rate of interest is provided on which Account?)

(A) dref @rdr (Current Account)

(B) d=d 9rdr (Saving Account)

(C) ¥l S &M (Fixed Deposited Account)

(D) 3maxil STAT @rar (Recurring Deposited)

aeet gfafafasser &1 o1 87

(Quality of an ideal coping is?)

(A) THaaafadr (Economical) (B) 9XeIdr (Simple)

(C) ¥ Ufd (True copy) (D) sTH & 1 (All of these)



24.

25.

26.

27.

28.

U ATAITIS e & b= fd=g 27
(The central point of whole business concern is?)

(A) fdUvH us= (Marketing management)

(B) ¥aradiig ye=er (Personal management)

(C) dred Ud (Production management)

(D) ®rafer uew (Office management)

e 121 N Ue o aiftredn W d fedsl Thd off o
el 27

(Maximum number of copies mode at a time by Rotary Machine?)
(A) 500 (B) 150 (©) 50 (D) 35
"R § ST $T 981 A8 © ol U@ "ol 4 J&u Ry &1
21" g8 du feasr 87

(""Office is as important to a business what the main spring to a
watch'- Who said this?)

(A) SR (Dixy) (B) &1 ®Is (Henry Ford)

(C) ward (Feyol) (D) S0t g8a (J. C. Behl)

TF AAS P oIl ST TRITBIOT YUl HiA df 87

(Which filing method is suitable for a teacher?)

(A) <TUil BIsel (Cardboard file)

(B) WiesY wisa (Folder file)

(C) APl drell BIsel (Arch file)

(D) 399 ®I8d (Shannon file)

TF A U &I [T 87

(Which one is a characteristic of an ideal letter?)

(A) et (Clarity) (B) Xa=wdl (Neatness)

(C) dfer<d (Short) (D) 3 91 (All of these)



29.

30.

31.

32.

33.

35 AT @ forq Sudaa sgufafafies<er gomelt sia—t 87
(Which is suitable?)

(A) TIRMH (Hectograph) (B) <% (Lithrograph)

(C) =f~Fa (Stencil) (D) e (Rotary)

Ugell R fa-dl S I a1 451 BT AEASRT fhAr TAT?

(In first nationalization of banks what was minimum deposit
amount?)

(A) 50 TRIe ®UY (Rs. 50 Crore)

(B) 50 ®RIS ¥ 3Mferd (More than Rs, 50 Crore)

(C) 30 ®xIs ®UY (Rs, 30 Crore)

(D) 100 @€ wUY (Rs. 100 Crore)

old Udh SIeeN quN saeR &I fadl afea & eq=fd 3 &1
JTRT <A1 @ A1 U Ped B2—

(When a post office order to another post office to pay amount to any

person is called?)

(A) #1 3ifSX (Money Order) (B) UREd 3ifex (Potal order)

(C) 91 (Insurance) (D) urEd (Parcel)
FOT AT §F B ...ooooee..e. & 27
(Granting loan is .......... function of Bank?)

(A) WIS (Primary) (B) g (Secondary)
(C) <m™IfSI® (Social) (D) 3T ¥ ®Is 78l (None of these)
/1 7 9 @19 91 I9ary &1 U feuarfia & @) 87

(Which of the following is not a departmental wok in business?)

(A) $HI—fd%HT (Purchase & sale)

(B) HAfGR ¥ g &=AT (Worship in temple)
(C) I (Planning)
(D) @Al (Accounting)



34.

35.

36.

37.

38.

IHATTST BT I2e B2
(What is the purpose of Index?)

(A) YAl BT ARerar A ge (Easy to find letter)

(B) UTEdI & TGN (For customers information)
(C) PHAIRAT B IHGIRAT (Employees information)
(D) TH 1 (All of these)

A% fafaa arsm o giar 87

(Cheque is a written order instrument?)

(A) ¥ |f2d (Conditional)

(B) ¥ @ (Unconditional)

(C) Sudad Tl (Both (A) and (B))

(D) $TH & Pis el (None of these)

H—%cl AP Hoelldl 27

(Damaged cheque is called?)

(A) BRI IF (Blank)

(B) @ifd od (Crossed cheque)

(C) fd&d =% (Mutilated cheques)

(D) $TH & PIs el (None of these)

d% gIee 27

(Bank Draftis a ...... )

(A) T 93 (Quotation Letter) (B) 3M<el U= (Order Letter)

(C) <l (Both (A)& (B)) (D) 374 & @IS 9el (None of these)
d & gmaE @ fay feaa fog Raed foq @ w0 4 g o)
27

(How many days are allowed as days of grace for payment of a bill?)

(A) 02 (B) 03 (C) 04 (D) 01



39. wfwai ik @ foy seqas =<t o I3 # =it 87
(In which machine analogy watch is instated to count copies?)
(A) TFRI® (Hectograph) (B) el gwiider (Rotary Duplicator)
(C) f~Fa (Stencil) (D) <fIRIM% (Lithograph)
40, IMET HId I YA GreT IEHET Giaeos 22
(While travelling, it is convenient to keep with?)
(A) dre® d& (Bearer Cheque)
(B) ~@ifdhd =d (Crossed Cheque)
(C) d& $e (Bank Draft)
(D) I TF (Traveller's Cheque)
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Wrs— ‘I (HIUrd ® d<d)

PART-"A' (Elements of Business)

SR UTg 99 § @ (Answer with five sentences)
f2l uia Ul & SN — (Answer any five question)
1.  AUIRE drATad b1 UIRATRNG HR?

(Define business office?)
2. IEHARTHT B I W BIE @) BieAE B o |

(Write any two difficulty in the absence of indexing?)
3. HEdl AHATHT fHd FEd 27

(What is a cross indexing?)
4. IS YT FT 87

(What is Zerography?)



9% g9 ¥ 3T T T © 7

(What do you understand by Bank Draft?)
TYqd 99 6 FEd 87

(What is Allonge?)

A% S IWIH & FI—FAT YAT Bl 87

(What is the effect of crossing of cheque?)

fp=21 UTd Ul &T SuX <— (Answer any five question):-

8.

10.

11.

12.

13.

14.

=2t g fag=h fafvaw fauz & = sfax fod |

(Write three differences between inland and foreign bill?)

i 13 9 3y T wEn 27

(What od you meant by Quotation Letter?)

IR AT 61 & 99 Do |

(Give the name of four nationalised bank?)

TP e MY IS gt Y fagiward forRav |

(Write the features of an ideal system of filing?)

ARG ST & "I &1 g H gREIRE $7?

(Define "Principle of objective" of business organization?)

fafm wren i@ @1 alamsr 9 e <1 fafswa ey gydan &
I fae |

(Define Negotiable instruments name any two negotiable

instruments?)

U 98® XS FT 8 q9UT SUDT A9 H T ATaeqHdl 872

(What is peon book and what is its need in business?)

fp=l I 99l @ STIX Q| (Answer any three question) :-

15.

grer A gfafafyevoer fafer @ o d it 31 aarer 37

(Explain the merits and demerits of hand coping method?)



16.

17.

18.

19.

Uh ARG ST B AT @ oy fea—feT )l &1 «a=
Gl TRy |

(What are the things to be kept in mind for setting up a business
office?)

ARG 961 & YA S ST 90 BN |

(Describe the main functions of commercial Bank?)

dg 999 B fagraare’ 1 quia #?

(Explain characteristics of valid endersement?)

9% QU dT 9% ¥ AR WS HR?

(State the differences between Bank draft and cheque?)
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